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1   ,�8A 	����� #��$E� ��%� ��������	����� ���7��� �0�/� >��% ��: ����&*�� ���A���� �����
8� @6��� ���� 
 ��6����� ����C�� ���%�� 	� "��

 ��:7�� ���6�6�E� 
� �������� +)
��(FSS):  

°≤ψ<°=ψ
°≤ψ<=ψ

≤ψ<ψψ−=ψ
ψ≤ψ<ψ+=ψ

ψ≤ψ<ψ++=ψ
ψ≤ψ≤ψψψ−=ψ α

18090fordBi)()4b(

90fordBi)()4a(

fordBilog25)()3(

5,0fordBi)()2b(

5,0fordBilog20)()a2(

fordBi)/(3)()1(

B

F

b

bbNm

bbNm

bbbm

LG

YLG

YbXG

bbLGG

bazLGG

aGG

  

  

O�
:  
Y =  bψb 10

0,04 (Gm + LN - LF )     
  X = Gm  + LN  + 25 log (b ψb ) 

 G(ψ):    4�A���/= ��
�)�� ψ B� �������� ��)
�� G���� (dBi) 

 Gm:    	������ F*�� 	� ��2.� 4�A��(dBi) 

 ψb:    ��)
�� �
�� ,�/�/= dB 3 �
����� 	� �������)  �� �2�Gm ���0�� dB 3) (��������(  
 LN:    4��0�� 	�/���� F*�� ��
�(dB)+�I/�� +���� P�6��� �:�� "
�:�� 4�A ��� ���/��� .  
 LF:    F*�� ��
������� 	�/���� (dBi) 

 z:   )��7��� �

��� ��� ���A�� �

��� ���/(��$��� ��)
6�   
 LB:  (15 + LN + 0.25 Gm + 5 log z dBi) 
� dBi 0 �����0�� ���6=� . 
������� 1 $��� ��� ��"#	%�� ��##�%�� &'  ��( &���� !��"��
� !����� )�#�� ��
����*� �+a ,��
�� -/ 1��(0% .  

 �
����1 

LN 
(dB) 

a b α 

20– 2,58  )log1( z−  6,32 2 

25– 2,58  )log8,01( z−  6,32 2 

30– – 6,32 – 

  

���� �
���� 1 +�0�� ����0�6� ������� a
 b
 α��� �� 	��
� 	�/���� F*�� �  4��0�LN :LN = −20 dB
 LN = −25 dB .
����2 ��� a
 α��   ���LN = −30 dB���6���� ������� �� ��)���  .
 �������� ���
� ��� "
=�� �����E�J��� 	A� ��)��� 

��2 ���
�	� a
 α��  ��� −30 dB LN =.  
2  ;�0�/�� ��%� E� #��$������� 5���� 5�������������� R���� @�
 �5����  H�:
 �D���� ���/ +�2 1���
 	��
8�� ,/�� 

 ���%�� 	� ����&*�� ���A���� �����
8� @6��� ����FSS"����� ��:7�� ���
0��� +)
�� ��: .  
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 ��	
�����
���������   
S   ,/��� �����
� ,����A:  

   ,/��� �����
� ��A �

� B0� 	��� �����
8�� 	� �%�� ����������7��� �0�/� .  
S  ���� ,/��� �����
� ,B:  

   ,/��� �����
� ��B �

� B0� 	��� �����
8�� 	� ����������7��� �0�/� >��% � ��)
� 
� "�
�
 . �� �CA
�)
�.  

����� ���� ��	
�  

D���� ���/� ��*���� ��
�:  
,L��� D���� ���/ δ "���
�� "�0*�� 	� 1.2  �8/� �6= ���2 ���
7��� )A�� ��� ��
�)�� ������� ���)�6= ,�����
 )A�� P/� 

 F2�/�� B�0��1�7��� �
����� �: ( ����7��� ���
 �6= �� <��0/
����)
6� ��
�)�� �
�*�� �6= ��
�0�����/��� �/
A��� .  
,L���
 D���� ���/ S "���
�� ����0*�� 	� 2.2
 3.2  �8/� �6= ���2 ���
 ��� ��
�)�� ��������

� �� ��0/
 	��
8�� ����� 

= ����7��� ���
 �6����)
6� ��
�)�� �
�*�� �6= ��
�0� ����/��� �/
A���.  
 ��
�
 ;���� 	� D���� ���/ ,���� ��������δ ���
�� �� �� ;)��;)�  "�0*��"	�
� "�:�� �� ���� 	��
� �6= @��/� 

 ,/��� �����
�A3  

1.2   ,/��� �����
8� @6��� ����A D���� ���/� +�2 B� δ ≤ 3,5:  
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
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
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
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ψ+−
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≤
ψ

ψ∆≤

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


+

ψ
ψ∆−±

=ψ∆

0

0

0

0

0

2

0

dBi

/189244.1for
9244.1
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9244.18904.0for25
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ep

ep

ep

 

O�
:  
 ∆ψ:    ��
�)��)�������� ( 5�2��/� G���� 	� ���7��� �0�/� >��% B0� ��0/ ��� 4�
��� ���7��� ,�*A �� ��
�=

#�&� �6=,�*A��   
 Gep:    M��A��� "
�:�� 4�A(dBi) 

    3,0 + Ge  = 

 ψ0:   �/= �/
A��� ����/��� ��)
�� �
�� "��0�� ,�/ )��������(  
    (λ/D) 72  = 

 λ:    ��
��� �
�)����.��(  
 D:    KA��6� ������ ��0��)����.��(  

Q  =  10 














+
δ

22

2

)]02.0)/[(

)2/1–(000075.0

pDF
 

  δ:   "�0*�� 	� �8*���� +� ��A D���� ���/2  
 F/Dp:   KA��6� ��!��� ����� ���/F 	������ 	���A��� 	��
8�� ��2 ��� Dp 

   Dp = 2 (d +h)  
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 d:  �� �
�*�� ��2�,��%���� 	���A��� +���6� B2
��  
 h:  ,��%���� #�*����KA���� ���
 ��� ���/��� .  

2.2   ,/��� �����
8� @6��� ����A D���� ���/� +�2 B� S ≥ 5:  
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
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
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
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O�
:  
 ∆ψ:    ��
�)��)�������� ( 5�2��/� G���� 	� 4�
��� ���7��� ,�*A ��#�&� �6= ��
�=,�*A��   
 Ge:    ���7��� ���
 �/= 4�A��(dBi) 

  S  ≥  5   B�    B =  B0  –  (S  –  1,25) ∆B 
      B0  =  2,05  +  0,5 (F/D  –  1)  +  0,0025 D/λ  
      ∆B  =  1,65 (D/λ)– 0,55  
 ψb:   "��7��� ��)
�� ��2 ,�/  
    = 36 λ/D 

 λ:    ��
��� �
�)����.��(  
 D:    KA��6� ������ ��0��).������(  

   1–
22

1
B

C += 

 S:    "�0*�� 	� �8*���� +� ��A D���� ���/2  
 F/D:   3	��
86� ������ ��0�� ��� ��!��� ����� ���/  

3.2   ,/��� �����
8� @6��� ����B D���� ���/ �� ������ � 	��� S)  ��� ��S  ≥  0:(  

( )

( ) ( )
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
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


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

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
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

ψ∆
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ψ+≤ψ∆<ψ+−
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



















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ψ−ψ∆+−

ψ≤ψ∆≤













−









ψ
ψ∆+−

=ψ∆

o

o

185.4for)5.4(
log2022

5.41for22

1forcoslog7012.1817
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G

CCG
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C

G

CBG
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O�
:  
 ∆ψ:    ��
�)��)�������� ( 5�2��/� G���� 	� 4�
��� ���7��� ,�*A ��#�&� �6= ��
�=,�*A��   
 Ge:    ���7��� ���
 �/= 4�A��(dBi)  
 B0  –  (S  –  1,25) ∆B   B  = ��� ��    S  ≥  0  
  B0  =  2,05  +  0,5 (F/D  –  1)  +  0,0025 D/λ  
  ∆B  =  1,65 (D/λ)– 0,55  
 ψb:   "��7��� ��)
�� ��2 ,�/  
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    36 λ/D  = 

 λ:    ��
��� �
�)����.��(  
 D:    KA��6� ������ ��0��)����.��(  

 1–
17

1
B

C +=  
 S:    "�0*�� 	� �8*���� +� ��A D���� ���/2  
 F/D:  3	��
86� ������ ��0�� ��� ��!��� ����� ���/  

4.2   ,/��� �����
8� @6��� ����AA� O�
  D���� ���/ +�2 �
δ > 3,5
 5 < S� 	������� ,�8�� ��) ��������� ��2  .
 �'$� ������ ;���� F
�%�� P�
 �6= ��.� 46���
	� B�
���	� "���
�� �������� @���� ����0*��  1.2
 2.2 ��$�� 

������ �:� . @
6��� 	� ���
1 ��� �8������� �A�� �0��� 	������� ,�8�� ��� 	/���� ������ �:� . ,����� @6��� ���� ���
 D���� ���/δ D���� ���/
 S "�0*�� ��� #
���� ����� ��80����
 2.  

5.2  ����0*�� �� 5�;)� ������� ��I
���� ����=��1.2
 2.2:  
������� 1 � ����� ��	�
�� �
���� 
��� ��� ������� ����
 �
 �
����� ���� !"�� #�$
�� �
�� %�� ����
 ������� &

��	
% '�
()

 *��
�� +, -(�����2.  

������� 2 � /	��� �
�� #�� 0��� '#�
�
�
% �
1� *���� 

(�� dB 3− &
��	2� !"�� ��)
�� �3, '��	�
�� ������� �
�� 4�
) 
 �(��+
�
5� �� /6� *���� �
���� �
 dB 3−.  

������� 3 �� 7
6�� +, 89 ��5���� 7": *%�� 8� /6�  �
;<
	� %=�)�(��
 . 8 +��� =
:
6�8� +, 
���%�� ��9 �
1� 4
��� 8 !�
 >�)� =
�%?� &)�(� 0�(� &

��� 
��, (6��) &A
 4�
) ��B =
���
�� *�
�
� C�1� �,
����:D
�� .( F�
6�� �� 0(�� (��%10 

G% �5�
�� ��)
�� #�
�
�� �
+
�
5� �(�� .  

������� 4 ��� 7": *%��� 8 ((���� 4�(F
 *
���� =
�H��: ��� ��5�� . ����� 7�?� &
��	� +��� =
�H����� �H��� 7": ��9 +
����
0�A�
���	��(�� �
 ��(�F
 =
�H����� 7": /����� �
F��� #�	�� &6� �
 <�
��� �
 .  

  

  

  

  

  

  

������ �1  

�������� ��	�
�� ���
�� �� ������� �������� ������ ����
�  

1  � ���������	
�� ���
�	�� �������� �����  

1.1  ������� ������� ��� ��	����� �����  

 	������ F*�� �0�/� 	� 5���� ������ 	��
� #��$� ��%� ���+�� 
� ��A ���/���� F
�*�� �0�/� 	� 5�&�� 5���� �CA.� .
 ����%��� ����
�6��
��� �� 5�2��/� ,�*A�� dB 3−  �	������ F*�� �=+�0/�
 �A$�� 	� �6C�� @��/� B��� ��� 1.  

������ ��? ��)
 �6= ��%��� �:� @���� ��
�
� �/= )��� ���
���� -�� �� ��? . +�0� �� �����E� �� ���� �:8�

������� �������� +)
�� �� 5���0�� �CA� +)
 ����
� ���0� #��$� ����%�.  
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 �A$��1  
�������
�!� ""#� �$%   

������ ���	 
��
��� 
������ψ/ψ0 

 �
�� 

��
�
��
��
 	

�

�
�

(d
B
) 
G

m
 

  

���: 
G(ψ):   ������	 
��
�	� ���	�(ψ) �� ����	� ���� (dBi) 

G
m

:   �����	� ��	� �� ����� ���	�(dBi) 

ψ0:   ����	� ���� �����! dB 3 "����	� �� ���#�	�)  $� 
�%G
m

 ���
�� dB 3) (&�'��	��( 
ψ

1
:   ���
	�(ψ) $��� ����! G(ψ) �	��#�	� �� III *������ dBi 0 

L
s

:   ���
	� ����'	� �+	� ����(dB) �	, ����	�� ���-�	� ����� ���	�  
a, b:    �-#�����#	� �.������ ���� :  

L
s

 a b 

20– 
25– 
30– 

2,58 
2,88 
3,16 

6,32 
6,32 
6,32 

2.1  �� ���!� ��&'�'(������� ������� ���  

 ,��� �A$�� 	� "���
�� �0����� ��L
���1
�*6� ��2� 5���?  R6�� ��
� �/= ��
.� ���/���� FdB 20− 4�A ��� ���/��� 
5����/ ���� �8����� �����
� �6= ��%��� �:� @��/�
 "
�:�� . 5������� ������ ��� ������� ��7� ���
����� �� P/� ��?

 ��� ��
��� G:� -�*%� ��&��dB 30−5��
�� �CA� +���� ��: �����
� �������
  .���� �:8� 	*�
 F�%�� ��%��� 46
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 	� �0�/� �:�� ��6����� ��=�:E� ���%�� ���%�� 	/���� 
����6� 	������ ����E� ���!��� G���=� �:��
 ��6����� �=�:E� �����
8�
 +�= ,�/�1977 (WARC BS-77)���
�� G:� 	� P0���� 4�� �:8�
 5����
 P0�0
� ���� ��%��� �:�
 � .46��� �2
  

%� ������ ��.� ��2��/�� ��& ���% ���/���� F
�*�� ���
� 	� ��&�*%��� G:� �C� @�0
�� ��6���� ��/�A�E� ���0�� 1�
GHz 6/4.  

3.1  �� ����� ����)��� ��� ����������
��  

� ��C��� ��%� �/��� �� 4��/H�:A ���I/ ������=� ���
 ����
0� +)
 "�= ��6
� ��� ����
0��� +)
�� �6= @�� . �� 4��

 "��7��� ��)
�� ��0A ����&� ���6�� ��
�����/����
.� 	�/���� F*�� ��
�
 � .
 �H�: @
� ��&���� B��0��� �����

���
)�� K��2 �0���
��%��� ,���� �� 5�;)� �.  
 ���/� �A� ���7��� �
�
 �� ;����� )������ �6= �
�
�� 	� +�.� ��'���� �0�� �	������ ��%��� �:� @0
� ���/= �����
8��

 H�:
 �5���0�� �CA.� ���
0��� ��)
�� ��: �����
8�� �8�� �������� ��A ����7��� @��/�� �
�)�� ��*�� 1�U������� ��  . ��
������� ��/0���
 ��6�7$��� ���
���� 5������ 5����
� ��
��
 ��

 ��%� 
� ���
0��� ��)
�� �: 	��
8�� #��$� ��%�:  

S  7��� �0�/� �A$3���  
S  3������ �
� �%  
S  31
�0�� 	��
8�� �
��  
S  3	������� ";�&E� F2�/�
 ��:7��� @�0
�  
S   K�0��� KA���� �
�� ��2(D/λ)3  
S   ���/��!��� ����� �
�*�� ��2 ��� (F/D)3  
S  3�60����� +)
�� :��/�
 �������� ������� "��=� ���� ��=  
S  3�6������� ��:7��� ���/= ��=  
S  � -
�=3@��/�  
S  3�������� 4��0���� ��� ���
��  
S  3�/�!��� �6��A�� ��
�)�� ���7��� �0�/�  
S  3#����� 	�
 �
��� 	� ��:7��� ��/= ����C� ���0���  
S  3��A$��� "��=� ���6���  
S   	7�/� 	��� �������� B2�
��� ��= �8/� 5�2��/�3��)
6� ���7� �A ���'�  
S  @0
��� P� J
����� �
�*��� �
��� 	�3KA���� D��   
S   ��)
�� �����)��C��� ���� �6= : ��)
�� B2
� ���
������� �6= ,2
���� P/= �0����� ��)
�� B2
� ���
� 
� �

 ����/� ����
�D�� �6= ���0��� B�����-�.� (3  
S   ��� ������ ��)
�� ���/= 	� ���
/�� #�
/� 	� R�)D���� �6= ,2
�� 
� KA����  �6= �A$ ���
�� 4�
 	��
8��

)�C� : +�I/
 >
�)��� KA����
 ��

�� KA������ KA���� B$� �����
� ,�*�
 ��!� �

� �
� 4�
0�  
V�� �"�$���.(.  

 	� ���
�� "�
A:��� ���
��� �A 4��� )��� �2
�+�A
 	���� ��%� ��

���
0��� +)
�� ��: �����
86� .  
� 	� �
�
��� 	������ ��%��� ����� � �A$�1 	������ ��%��� �� ������ ��6�� �� H�:
 �5��&�� ���
0� +)
� �����
8� 

 	�ψ0 �/= ��)
�� �
�� ,�/ �dB 3− ���
0��� ��)
�� )A�� ��/�� �,��� ��? ���0� �
 �5���� 5�*����  5���� >��% ��������
��)
�� . �6= �
�
� ���� 	���� ��%� �A$� �2
4 B�2$�� 	� �8I� ��A � �A2;�&�� �CA� 	������ ��%�6� 5��:
�/ � .

���7��� ,�*A >��% ��
�)�� �����6� ���� ��%��� �:� ���
 ��� D��� �2
.  
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∆ψ
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 �
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���
 �

�
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�

(d
B
)

�
�
��� ���� ��	�

������ ���	
�� 

��
 ���� ���� ���)

(���� ��
���� ���� ��

���! ��

� ������� 

� ������� � ������� � �������

�����2

 ����������	
� ����
 ����� 

 ������� ��	
 ��� �
���	
 ��
��� ��	� �������
 �	���� �
	�� 	��� �����)(dB 3− 

������ ���� ��� �
���	
 ��
��� ��	� ������� ψ

:

 

  
 K�0� �:�� F�%�� G����� �A$�P��H�:A �8*���� �� �� � ��6�� ��
�)�� ������� G:�  . H�: ��� @������ 1�
� �C���
� K��0

����7��� �0�/� �� 4�2.� ���C�� 4�A�� ,�*A �6= 5���
�= ��
�)�� G: . ���
���� -�� '$/�
	� �
A� ��
 �0����� G:� 
��� �A$ :%'� ����%� B� ��
�� 
� ��A "��0� 4�A�� �*A� �� ;�)�� . �2
O�
� � ��
���� G����	� �,�*A�� �6= �:� 

 �� �����%��� �� ��/��B� B��0��� �0�/� 5����� ���7�� . �
�
�� 	� ��
���� ���)�� 	��
8�� +���� �I/ �8�
 �� ���
��0��� ���� ����)� ��6A ��%��� �� ��0��� ;)��� 	� W-�� )���� �6= . G:� �6= 467���� D��� �2 1�%� �0��� ��
�


 ��A�$����C��� � ���
� �0�/��
)�� K��2 +C ���0� �� ��&�� � ,�*A ����
� ���7��� ,�*A�� �:� �� 5�2��/� 5���
�= ������=�� 
���7��� �
�
 P/'A
 ��%.� �:� .�� ��C
�� ��% �� H�:
 ������0�� P�� +�� �:�� G����� ,����� D��� �/A�� 1�%� @

 ������ ��0/A ��C��� ���� �6= ��
� X6�6�� )A�� �������) ����0*�� B���1.2
 2.2 .(&�
 ,���� ��� �
�
�� �A�
 D
���
�& ��'�� �A$� #��$� ��%� �A�.  

���� @��/� B��� ��� #��$E� ��%� +��0� B����/ �G����� ,���� +�� ���/=
:  
�)"���� 
:  	������ F*�� ���
)��
�
�� )������ ��
�) ��� ���/��� ���7��� ���
(  

"�
������ ���7��� @��/� G����/ �� ���0� �0�/��� G:� �� -��*� .��/ �2
 ��� ���� ��
�&�� )������ �6= �
�
�� B��
������� ��*��
 ������ 	��
� )���� X�� �� 5�2��/� ���6����� ��A�$��.  

 �������� 	� �8��� ��$��� ����6� �8��$� �
A� �2 �0�/��� G:� �6= �80���� �A�� ����� ���� ��C(I) �A$�� 	� 1.  
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 �)"����*:"�
��� ��? ���7� �0�/�   

 ���� �� P�*/ B2
��� 5����0� �7$� 	��� ���
�6� D��� 	A� 5����A 5�)���� �8�� #��$E� ��%� +�0� 	��� ��0/�� �� �0�/��� G:�+�%� 
��? @��/� �� "�
��)∆ψL �A$�� 	� 2 .( ��
�
�� )������ J
���� �2
(Ls) ��� dB 20−
 dB 30− 

 �)"����+:"������ ���/���� F
�*�� �0�/�   

 �)"�����:	*6%�� F*�� �0�/�   

 �A 	�7� "�
�
 ���/���� F
�*�� @��/��� G:� �������� ��: @��/� �8�� ����� 	��� ���
�� 	� ����=�� ���� :%!�
 �6=.� 
�������� 	� �6������� �������� ��2��/ 	� ������ ;�)�� -�� ���
 	�
 �5����A 5������� -�� �= �8&�� ���%�� . 	� 4��


�� G:� ����A�/� �8��/� �2 ��8� ����C'� ��C �. �5��� "���A �

��� >��% ���
) �
�/� �/= ������
� :%!� �� �"��%.� ���

����&*�� ��A���� ��/� �6= ��2
�� ��?� -�*��
	������ KA���� �6=  . �� ��
� ���
6�� �6= �
�
�� ��
 ��� J��0�


 ���0�� 4�A�� �� �/�� ,�7� �&
�dBi 0 ) �0�/���� �A$�� 	� 2.(  

2  ��������� ��	
 �� 
���� ����� ����� ��  

 G�/�� ��/
 	��
86� 	6�*�� +������ ��2 H�:
 ����
0� ��)
 ������ >:
�/ B&
 ��� �� ���� 	���� ��%� ������� �A��
��8� �������� ���6����
 ����%��� G:� �C� ���
� ��8/A�� ���:
�/ .:
�/�� ��:� 4��/�
 �� �%����� �

 +�2 �� ���

������ �6= ")A�� ����% +�%��� 	��� ��
���� ��0������ 4��/� ��A �4
��
�� +�%��� ������ . ���:
�/�� ��:� �A$� ��A
 @���� +��� H�: B� D�/� P/� �� P� ��
� ��%� �. 5�����“B��0� ” �8�����
� )���� ��I/� G���� 	� �� ����/�� ����%���

��6��%� . 1�%.� ��A�$6� �%��� O
�
  ����
� ��� �0�*� ������� 	� �80���� +�= 	/�� �:�
) 
� 5�C� -�.� ���
 >��%
 ��? ����
��� @��/� 	���
�'���V�� �.(.  

1.2  ��"���� �)"�� ��,��  

��C�� ���%�� �����
8� ������� ���%�� �0�/� ��C�� ��7� 	&���� 	� "���= @���� J���2� +� ��6����� ��)FSS .( G:� 1�
� F/�

 	�I�/ G���� 	� K�0� �� 4�� ���7��� �0�/� >��% ��
�)�� ������� �� �6= @���������
�
�
� �6= ���%�� �0�/� ) ,�*A

���C 4�A (������ �� 1�U� ��A . ���%�� �0�/� +��� 	A B2�
�� 	� 4�A�� ,�*A +���
��/A�� ��;�� �CA� �� 	������
 
���5��� 5���7� �
A� �� ���C�� 4�A�� ,�*A
 ���%�� �0�/� ������� ��� @�*6� B2
� . �/= ���
���� -�� )���� P/� ��

 	��� ����%��� ��� ���/��� ��
�� 
� ��A "��0� 4�A�� �*A� �� ;�)�� �8�� �
A� 	��� ���
�� -�� 	� �0����� G:� �������
��� �A$ :%'� . �0�O�
� ��� G���� ��
���6= �����%��� �� ��/�� �:� 	� �,�*A�� B��0�� �� 5����� ���%�� �0�/� B� 

 K������ �� 5���$ 4��� ���) �A$�� �I/�3�(.( >��% ���� B2
� ��� ���/��� P/� 	� ��C���� �:� 	� 1�%� ��
�� ��
� ��A 
 "�
�
 ��0/ �� �CA� ��
� �� �A�� ���7��� �0�/���
A� ���%�� �0�/�  �/����� ��0/��� ����� B2
� ��� �:�� �%�� �8�� �

 5���
�= ���%�� �0�/� �6= �6= ��0/�� G:� �/= ���%�� �0�/� ,�*A) �A$�� �I/�3�(.(  

 ���I�/�� ��
�)�� �����0�� �6= )A��� 	�
 G�=� "�
A:��� 4=����� �6= 467�6� �0��� ��
� P/� ���0�/� �6= ���7��� 
��� ����%��� �6=
"��0� ;�)�� ��&�� 	 . ���
���� �� 5���= �0����� G:� ��&��
��/����� @
6��� 	� ,�
� 	�
 2 

�0����� G:� ��
�% �� "
�% �A ��&�� ��;���� �=
��� ����
�.  
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���
� �� �
A� � ���7� �*A� �������� ��;���E� G:� ����� �A�� �H�: �= 5�&� .���
��� ���7��� �*A� ��� ��
�6�
 
 @
6��� 	� ��
�
��� ��;���E� ������� ���� �8��� ��$���2 ���
)�� �� ����
��� ���
)�� �� ����=�� 	� :%!� �� �6= �

���7��� ,�*A �%�� "������ �
A� O�
 . �A$�� 	� �8I�
34(H�: �6= 4������ ���7��� ,�*A .  

 ���
0��� +)
�� ����%� -��� 1�%� �0��� ��
�
�C��� +���  X6�6���� �� P/A�� �
��� �7�'� ���7��� �0�/�� ��
� 
��6�*�� . 	�I�/ G���� 	� X6�6�E� ���
 �� ��
�)�� ������� K�0�
��
� �6=X6�6�E� �:�  .�0����� G:� ")��
 ��
8��� 	� 

 ����/��������� ����A� �8
��� 	��� ";�*A�� ����= ����
)�� K��2 	� B��� �:�� ;���E� ,����. �� ��� -���� �:� ���� H�: B�
 
��6�*�� ���%�� �0�/�� ,��U� 	��� �0�/��� ���0� 	� 	��7�.  

 5�*���� 	��� �/��� �0��� ����� �0��� ��
� ��AP�� K�� ����
0� ��)
 �: 	��
8� ������� ���7��� �0�/� ��C���  . ������

� ���7���� ��
� ��/� �
��� 
: X6�6�� �0����� G:� 	����7��� �0�/� )A�� ,���� +�� X6�6�E� �:� ����
�
 �����7�� . �


��%��� B��0� �

� ,����� �0� ������ 
�
 ��)
�� )A�� "�
�&��� ���7��� �0�/� )A�� �C�� . �0�/� )A�� ���
� ���

1�%� ����� X6�6�E� �:8� �
A� � ����7���.  

� �
�
 ,����� 4Y�
� B6&� H�: ��� ������
���7��� �0�/ . ��= ���#�&� 4�� B6&��� �� K��� �6= G���
� +��� B6&��� 
5��Y�
� �
A� �� 4�� P/�
 ��A�E� ��2 �8� 5�0��� �
A� �� �6= ���7��� �0�/� ��
� �� . �A$�� 	� �8I�
3>( 	��/ ��C� 

���%�� �0�/� ��C��� . ��
�)�� �������� 
���
 ,�/ ����2 @6�/��/� )A�� �����7��� �0.  

 @���� G���� ,���� J
&
� +�� ����7��� �0�/� >��% B0� ���6� B2
�� ��.� @6��� ���/=
#�/0�� ���/��� ��
�)�� ��������
 
���7��� �0�/� )A�� ��� . ���/= ���7��� �0�/� >��% 4�A�� �*A� ��� ��
�)�� "�=����� ���0� K%� ��� ���� �0����� G:� �� ��

�)�� �
A� ���I�/ �
A� �� �= 5���CA "���� ����0�� ,�/ ��
�6=���7��� ,�*A .  

 �0� ���
��� ���7��� �*A� ������ 	��� �0����� 	� +���� 	� ��
8���
 �2��� 	��
�/ �� 5�
�2 �CA.� �0����� �� 
��� �5�)����

 �������� 	� K�0� ��
�) ������ B�#�&� �6= ���
�����8I� ��A �,�*A��  �A$�� 	� 34(.  

2.2   *�-�� ��	���./�-�  

 M��A��� "
�:�� 4�A �� �2� �0�/��� G:� ,�*A �6= @0
��� ���7��� �0�/� �6= �/�.� 4�A�� �����(Gep) ���0�� dB 3 �
���%�� �0�/� ������ �6= ��$�/�� �
�$ ����7� -�
�� ��� �� ��)
�� ,��A�� �8�� "�
�& � 	��� ���
�� 	� H�:
 . ���

�

��� �6= "�
�&��� O�
� �
 �M��A��� "
�:�� 4�A �� �/�� 
� �6=� 	6���� @������ 	� �
A� �2 ���*�� "
�:�� 4�A ��.  

 ��)
6� 5���% 5���& ���%�� ���6��� Z
�� �2 
� ����
�� -�� 	� ���%�� �0�/� �6= 5����A 5���7� ��$�/�� �
�$ ��7�� �2
�0�/��� G:� 	� .�� 4�
�
 ���
�� H6� 	� ��
�& 	��/ 4�A �/)���7��� �0�/� ,�*A �6= ��
���� 4�A�� ��� ���/��� (

 5��6%�� 5���A��� ��� ���� @��/ �� B����/
 �B6&��� �� K�� �A �/= 5���%)��)
�� �

� �� 5�2��/� ������ ( 4�A�� ���
��
 ����
�� �
���� 	� 	��/��  .
 4�A���6=�7��� �0�/� ,�*A  �/� �� ,2
��G����� �6=.  

4�A�� ��7� �� ��� "��$E� ����
 ����
0� ��)
���7��� �
�
 ;��
 ���� 	������� P�2�/�� ����� � ���7��� �0�/� 	� � . �

"�
����� ��I/[� 4����� �%������ �5�&�� 4�A�� ��
�/ �� ����7��� �0�/� 	� 	��
8�� ;��� ����� .� ��7�� 	7�/� +C ��
 4�A�

 ���7��� �0�/� 	������
0��� ��)
6� �������� ����%��� 	� ��
� .  
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������ 
��	� ���� 

 ���� ������� ������ 
�����

������ 
��	� 

� ( 
������ ����∆ψ 
������ ���! "� #��$�	� %)������( 

 ��� �����	 
���1

 ��� �����	 
���2


������ 
��	� ���� 

������ 
����� 

�&'*��+�� 
������ ,��

�( 

-( 
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3.2   ���1 �	����� �������	��
��  

�
��� ��% �� ���/���� F
�*�� 	� ���
��� ";�&� �����
�*��  .	����� �A$�� �6= ";�&\� 5�/
/�2 :%'/6�:  

 1||
2

cos)( ≤






 ⋅π= xxxf N (5) 

 �
�*�� ���
 �6= 5��*� ������ G:� �
��� ��� ��N > 0 . "��7��� ��)
�� ��2 ,�/ ��������/��� 	� ��
��� ����� �
 ���/���� F
�*��(dB) ���/��
 D/λ ������� ������ 	� �	�
� 4��0�� �	����� ��������:  

  )�����(    ψb  =  (16,56  −  0,775 Ls) λ/D (6) 

�
 OLs �
.� 	�/���� F*�� 	� ����/�� ��
��� ��� ��$� (dB). 

������� �:� �C��
 ���/���� F
�*�� 	� ��
���
 	��
8�� ��2 ��� @��
��� ���
	������ F*�� ,�?  .P0�0
� +�
 �� 5�2��/� 
���/���� F
�*6� �*6�%� ���
� ��� ���/��� �����0�� X���/ ./A �2���� G:� �6����� �2
 ���� ��
�
��� >:��/�� 	� ����� ��0

	6�.  

4.2  *�")��2� ���� 3
&	� ""#�� +���� ���45  

 5�*�
 "�0*�� G:� ��&��
����� ����%���
�� "���
0��� ��)
�� ��: ��6�0����� �����
86� 4��0����  . �2
B&
 ��� 5���/��� 
��/�� �:� �� �����
� "�= �6= ����� �����2) Brazilsat
 Anik-C
 Anik-E 
TDRSS 
Intelsat-V
 G-Star 


Intelsat-VI
 Intelsat-VII
 (Cobra���I/ ������=� 5�0�

 .  

��)
�� B��
� �6= �������� ����C'��� 1�� ��
� +� �0����� >:��/�� �� 
���
 . ���0��� ��/�&��� �������� ���:
�/�� ���
���)����� �A$� ��� �����C'��� G:� ��
�/�� 5�0�2� 5��2
� ��
�0��� ��)
�� �: 	��
8�� ;��� B2
�� 5������ 5����.  

1.4.2  ��6� +������  

H�:A ��
/�C�� ���6����
 ���
.� ���6���� ����
� G���
� +�� "�0*�� G:� 	� ���
��
 ���
0��� +)
�� �: 	��
8�� ��%� �� .
L�2 	� ���
.� ���6���� �C���
/� -�=
 "��7��� ��)
�� ���/���� F
�*�� 	� "
�:�� ��
�
 	/���� G����� 	� ���7��� �0� .

 ��6�� 	� �C���� ��
/�C�� ���6���� ���4�
�� ,��
/��
 �/=D���� �86�$ 	��� +)
�� ��=
 D����  . ��
/�C�� ���6���� G:8�

 	��
8�� #��$� �6= ��C'�	� �C��� �������� ��)
�� B��
� "���)
�� F
�*�� ��
� ���/�� . ��6���� �� �� +?��� �6=


���
6���� ���A��� ����%.� ����6���� �/� ���� �D���� �86�$� 	��� +)
�� ��= 	� ��)
�� B��
� 	� �/��8��� . B� 	7�/�

 ��C'� ��*?� +�= H�:4�
�����/���� F
�*�� ��
� �6=  .��2 5"��= H�/� �� B2�
�� 	� ��/ ��6�= �����0� 4��� ��/�
& 5�� 5��

 ���/= 4�
�� �� ��$� � ������ @����� 4���� ������ 	��
8� +����� @6��� ���� ��
 O�
� H�:
 ����
�� 4�
 . ��

 O�
� �� D������/= 4�
 
� ��A �A��$� �
�� ������ 	��� >
�)��� 	�%�� 4��0���� ��: �����
8�� ���
 	� ���
�� 

A�$�� ���A���� ��� ���/��� ��
�� 	� �6������� ��
�)��� ��Anik-E
 G.Star
 Anik-C
 BrazilsatV�� � . O�
� �:�

 "�=���� +)��� +�
��
 �)��� ���6���� ;�*�E� ��7� �4A��� ��8/�� O�
� ��:6�� ���A���� �)A�� ��� 4
6���� ��*�� 4���

@�
�.� �� ���=
���.  

�� "������ ���/���� F
�*�� @��/� 	� ��
�� �
>:
�/ �� ���=E ��)��� ���0��� ���
6���� �� ��60��  . ����A�/�� ��!�

 ����&*�� ��A���� ��/� �6=-�*��
��:7��� ��)� �$����� #��$E�
 ��:7��� ,�*� �6= � "���A�� ���
)�� ��� ���/��� H
A$ ��� 

���I/�� �����0��� �
� +�= ���C� ��� ��!� �2
 ��

��� >��% .�� 4���
�0�/��� G:� 	� �����2 ;���� 5� . 46��� H�:�

 �/�.� 4�A�� �� ���� @���� �'$� ��)��� �0C�� 4���A� ��7� ������� �� ��)� ;���� ��.�����2 dBi 0.  
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 �8�� 4�� 	��� �������� �6= �� @��/� � J��0��� ��%��� �� ��� "��$E� ����
+������ ����/���� F
�*�� ��
� . ��� 	�
 �6= �
�
� � G���� �� 
� -�.� ���
 ;��
 �� ��� 
� ����
��� @��/� 

/ �������� �C� ����
�� ��? ��������

5��6�C�� 5��:
�/ "�
�&��� ��%��� �:� �A$� � ��%����� 	� �A�$�.  

 �1	 *�")��2� ���� ��
�� +������1  

 >��% ���
0� ��)
 �: ���� 	��
8� #��$E� ��%� ,�? �C�� �:��
 +��2� �C�C �� �
A��� 	����� >:
�/�� ������� J��0�
���7��� �0�/�:  

	������ F*�� ���
 �0�/�:  
2

0

dBi 5,04)( 







+

ψ
ψ∆−+=ψ∆

Q
VUGG ep               for               0  ≤  ∆ψ  ≤  W ⋅ Q ⋅ ψ0 

��
.� ���/���� F
�*�� �0�/�:  
GdBi (∆ψ) = Gep + SL                                for          W ⋅ Q ⋅ ψ0 ≤ ∆ψ ≤ Z ⋅ Q ⋅ ψ0 

"������ ���/���� F
�*�� �0�/�:  
GdBi (∆ψ) = Gep + SL + 20 log (Z ⋅ Q ⋅ ψ0 / ∆ψ)    for             Z  ≤  ∆ψ  ≤  18 

O�
:  
∆ψ:   �7��� �0�/� ���
 ��� ���/��� ��
�)�� ��)��������(  
GdBi (∆ψ):    �/= 4�A��(dBi) ∆ψ 

Gep:   M��A��� "
�:�� 4�A  
  (dBi) 3,0  +  Ge  =  Gep 

ψ0:    ��)
6� "��0�� ,�/ �
�� ��2����/���) ��������(  
  ψ0 ≈  (33,12  −  1,55  SL) λ/D 

  λ:    ��
��� �
�)����.��(  
  D:    KA���� ��2)����.��(  

SL:   /���� F
�*�� ��
� "
�:�� ��
� ��� ���/��� ���)dB(  
= log 10 A,  V = 4,3429 B  U ��)
6� �������� ���6���� �C�� 	�
  

 B  = ( )[ ] ( ) ( )[ ][ ]1SL775,056,16/SL345,330,16/105,0ln
2SL1,0 −−−  

 A  = 0,5 exp(B) 

W =   (–0,26  –  2,57 SL)  /  (33,12  –  1,55 SL) 

Z = (77,18  –  2,445 SL)  /  (33,12  –  1,55 SL) 

:Q  
�� B��
� ���= ��)�= +��/����
/�C�� ����C'��� : 

 














+
δ

⋅∆η⋅λεπ=
22

2

]02.0)/([

)2/1–(000075.0

5.0–22 10)]([])/(8[(exp
pDF

iQ (7) 

 �������� 	� ����7���� ,���� +��
(7)	6� ��A :  
ε:    '�%� B������ ��
�� �:��
�����  
∆:    ��6��4�
��)  B&%� 	��� �
����� ���/� 	������� �:���4�
6��
�*�� �
��� ��� (  
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δ:   D���� �86�$� 	��� +)
�� ��=�

��� G���� >��% �  
= θ0

 

/ψ0 

θ0:    ���7��� �0�/� )A�� ��� �
�)�� ��*��) �
����� �: X6�6�E� )A��1�7��� (G:� ���7��� �0�/� ���

  
ηi (∆)  =  1  –  ∆2
       ��� ���)A���� 4�
��  

[ ]222 ])1(A1[1 ∆∆−−− =   ��� ��4�
�����
�� �/=   (8) 

 ��6���� �C��A �������� 	� (8) ")�A��� #�*��� )��
��� ��
� ( ���
.� ";�&E� ���� 	�(1 − Ar2)
 KA���� �6= r 	� 
L�0��� ������� KA���� �
�� �
��� 	� )A���� �� 5�2��/� ��)1 = r���
�� �/=  .( ���F/Dp �������� 	� (7) ����� ���/ 	8� 

	������ M��A��� B�0�� ��2 ��� ��!��� . ���/ ������
F/Dp��  ��� �8���2 J
��0,35
 0,45 	��
8� 	6���� +������ 	� 
����.  

,2
��
 ��C'� �6= "������ ���/���� F
�*�� 4�A -�� >���/��
 K�A�/�� �� �A ��C'�
 ��:7��� ,�*� �6= ��A���� ��/� 
����&*�� .� �����/��� F�%��� 4��� H�:�
 �*6�%��� ��������� �6= ����C'��� G:� ,2
�� ��A�8/'$� ����.  

 D&�� ��A
�� �������� (7) ��)
�� B��
� ���= ����� Q '�%� B������ ��
�� �:� �6= �
����� ε ��6�� �6=
 �4�
�� ∆ 
 D���� �86�$� 	��� +)
�� ��=
δ ���/�� �6= H�:A
 �F/Dp . ��C'� �� ��/ H�: B�
ε
 ∆ ��)
�� B��
� �6=  �
A� 5���7�

 	6���� @������ 	���� 	� �A��
 "��P����� . �������� ����� �A�� 	������
)7 (	6� ��A D����:  

 














+
δ

=
22

2

]02.0)/[(

)2/1–(000075.0

10
pDF

Q (9) 

O�
:  
Dp  =  2(d  +  h)  

d:   ,��%���� 	���A��� +����� �
�*� B2
���� ��0��  
h:   ,��%���� #�*����KA���� ���
 ��� ���/���   

 �������� �� J
&
� �8I�
(9)��)
�� B��
� ��  ,2
�� ���/�� �6=
 D���� �86�$� 	��� +)
�� ��= �6= F/Dp 	��
8� 
������ . ���� "������ G:� D��
δ ���'� ���6���� @6��� ���� ��)�
 	*A� ���� �� +)
 B�� ��� ��� �2 +)
�� ��  ���7�

 @��/�� 	� �����=GHz 14/11���� ����
�� 
� ��/A �C� "���A�� ���%�� @��/� 	� ��/� 3 ���0�� �� ����� 
� ��A���.� "�
δ 
 @��/�� 	� ����)
 
� ��)
 ���= "�
�� �86��0�GHz 6/4 @��/�� 	� +)
 B��� 	��


 GHz 14/11 @���� 1�� H�:
 

>:
�/�� �:� . ���2 �
A� +C ��
Q �� �2� ��I/.� +I�� 	� "��= 1,1 ���= "�
�� �C�� ��)
�� B��
� ��C'� �� 	/�� �:�
 �
	��

 %10 "��7��� ��)
�� -�= �� ����/���	��
86� ���
0��� ��)
�� �: .  

 ������ ����� �A��Q H�:
 �	6� ��A D���� ����]� �������� ��)
�� B��
� �=
 4�
�� �= +��/�� ;��%� �
��� KA���� 
 ���/�� ���2 �� -������
F/Dp 	� KA��6� 0,35�
�.� ���
�� ���2 	�
 :  

( )2210037,0
10

−δ=Q 

 �
�
�� �A��
 	� ���/���� F
�*�� �
��� 	� ��
� �6=dB 25− @��/�� 	� GHz 6/4 �"���A ��
�� �
� H�:
 �
� ��/�� �� @6��� +���
 ����� 	��

 G��2 R6�� ���� KA��� @�
�.� ����� 	��
� �������PAM-D . R6�� )���� @�0
��


dB 30��A� ��0� 	��
� ���
� ��.� 	=���� �2 ���A �
�) 1�� 	� ���&/�� 
� ����
�� ���'� �/��� �:� � . 	� 5��
�= �A��
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 ���� 	� ��6����� ����C�� ���%6� �=)
��� ��2��/��GHz 14/11 R6�� 5�)���� @0
/ �� dB 30 ����� G��2 	��
� �������� 
5��
�� �CA� ��:7� +���� �������
.  

� 	���
 G�=� "���
�� �������� �����
 ��)
6� D���� ��
�) �6= 	������ ��%��� ,������/��� G���� 	� ���7��� ���
 �6= 
��%��� P�6= @��� �:�� B�0��� . ,�8A 	���� ��%� +�%��� �� �/��� �:�
	����� ��%��� �:� )���� �� ��
��� �

�8�6= ����� 	��� ���6���� ���/��� �� �A�� ��2 �2� �6= �
�
� ��
 �������� .��
 ����6� +�2 
� ���2 ����%� 	7�/� +C Q 
G�=� "�
A:��� �������� 	� +�0�� G:� ��%��
 ����
�6� ����/ ���7� �A ���0��.  

 ���� �6= �
�
�� �A��
F2�/� @��/� 	� �
A� ��= ����/�� ��/�
�� ���%�� @��/� 	� 5����
/� �CA� �
A� �������� ��)
6� 
�� ����$�� ����62E� ���7���5� . ��� 5����0� �2� �
A�� ����62E� ���7�6� 4��/��� 	������ ��%��� �]� �H�: �� KA��� �6=


��/�
�� ���7��� @��/� 	� 4��.  
 >:
�/�� ����� J��0�̂ �+�0� �� ��� 5��I/
1 ���%�� �����
8� @6��� ���� ��������� �����
�� ��� ��
�6� FSS . ����� 	� -��*�̂


 �����
���
���	� ; ���/���� F
�*�� ��
� G��2 dB 25−. 

 �(   ��	
��� �	�
�������� 3,5) < (δ  

��/�
�� ��6����� ���7��� @��/� +I�� ��*�� G:� ��& B0� . ��)
�� B��
� ����� ���2 :%!�
Q ����� 1,10 ���
/�� "�=���� 
 ���7��� @��/� 	� D���� ��� ������ �������&*%��� .%��� ,���� �A��
	6� ��A @��/��� G:8� �������� ����:  

( )

( )

( )














≤ψ∆<ψ∆ψ∆ψ+−

ψ∆≤ψ∆<ψ∆−

ψ∆≤ψ∆≤ψ+ψ∆
ψ

−+

=ψ∆

181168.2for/1168.2log2025

1168.29794.0for25

9794.00for55.0
797.10

256.0

0

0

0
2

02
0

dBi

ep

ep

ep

G

G

G

G 

�(   ������� ��	
��� �	�
�(δ > 3,5) 

������/�
 ���6�/� ���
�� �������� ���7���
 ��
�A�� ,�/ ���7��� ��*�� G:� ��& B0� .����6� ���2 :%!�
 Q ����� 1,3 
B��
�� D���� ��� ������ ���
/�� "�=���� .� �A��
 ���7��� �� ��/�� �:� �6= �0����� �������� ����%��� ,���(δ > 3,5) 

	6� ��A:  

( )

( )

( )














≤ψ∆<ψ∆ψ∆ψ+−

ψ∆≤ψ∆<ψ∆−

ψ∆≤ψ∆≤ψ+ψ∆
ψ

−+

=ψ∆

185017.2for/5017.2log2025

5017.21575.1for25

1575.10for65.0
73.7

256.0

0

0

0
2

02
0

dBi

ep

ep

ep

G

G

G

G 

2.4.2  �
���� ����
��  

 �/��� �:� "��CA ���
�� )����+�A
� 5����/ ���� ��%�  
� +����� ���&E� �
� �*6�%� ��6��� �����
� �6= P0���� �A��
���� +�I/� .: �6= _;�/�
 >:
�/�� �/� P��0� �:�� ��%��� �]� �H�2 ,�? ,�
 P/� -�7�� K�� �
�
 �6�A$� ,�
 �� �

���= . �� ��
�
 	��
8� F�% @���� 	� �0� K�� D��� ��%��� �:� �� ����=� �A��
����� ��&�� 	����� ��C��A 5�
��� 
�*6�%� "��CA ��0���� 	� D6�� �����
� ,�� 	��� ����%��� �� �6��=.  

����=�� 	� :%!� �. >:
�/�� ���=� �/= ��
�
� H�/� �/�A
4��
�� ��)
�� B��
� �����/�� �86�$� 	��� �/
A��� +)
�� �= 
���
0��� +)
�� ��: �����
86� ������� �

� >��% D���� . �%����� ����C'� "�=��� �6= F�
� ��
�
� H�/� �/�A ��A
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��7��� +)
�� ��� �������� ����2��
"����/���  ��)
��� ��
� 	��� "�
����� "������� ����/���. ����=�� 	� �:%� ��A 
 ����)
 ������/= "��7��� +)
�� D�� G���� 	� ������&� ����
�������/������=E� 	� ��0���� 4/��� H�:
 � . 	� �%� ��A

 ���/�� B� ��)
�� B��
� 	� ��7��� ����=��F/DX���/�� ����%� +�
 �1���� 	� 0,70 ≤ F/D ≤ 1,3  
���� >:
�/ B&

� 
D���
��� ��� ��
�� ��
�) ����� �
���
 #�*����  . F���%�� �� "�
 �CA� F���% �6= �
�
�� �A���� �� ��A


 ��2
������A 
��0� ����� �
���� >:
�/�� �=̀a�  . 	� >:
�/�� �86�$ 1�%� ��&����� ��
�
�������:  
S  � �
�
� -��*�̂ 	��C��� ,�*A�� ���0� �� ����*�� ,�*��� ���/�� �6��0���
 �/
A��� +)
�dB 3− ���7��� ��)
� 

3���
0���  
S   "��7��� �/
A��� ��)
�� ��2 ,�/ ����̂ψb �������� 	� (6)�2�/� ���0� 
�
 5������� 5� G��2 �
�*�� ���
 �6= 

dB 4−3  
S  ���0�� ��B  ����� ��)
�� �0�/� 	� ��A
���� ����8��:�/ �����)
6� D���� ��
�)� ����A 5"�$��� ����/���  

 	��
8�� ��0�
 �/
A���D
 � ���/6F/D	��
8�� KA��� .  

���2���/��  F/D �6�������KA��6� ������ ��0�� ��� ��!��� ����� ���/ 	� >:
�/�� �:� 	�  . KA�
�6� 5�
��� >:
�/�� ���

��� �8/� �
�
�� ��2 ��� �2 	��� λ 120 � B� ��� ����= ��� +)
 -
��� D��13 ��C �2 >:
�/�� �:� �� ��A ���)
 

 	��

� ����� P������34 ����%��� B��0� �� 5���0� �� ":
%'����*6�%� �����
� ����� .  
 ��� 5��I/
 �$� �
�2 -�� ��0����� 	� ��
��� �2 P/��6= �	��
8�� ;��� 	� +A
���  �0� >:
�/�� �:� ��&����
� 	6��= 

 ��� ������K1
 K2��%��� ������ ��
��� �b� ��
 ���
�� .  

 ��� ��	����� ���� ����� ����
��2  

	������ �

��� >��% 	��
8�� 4�A� �6��0��� +�0��
 �*6�%��� @��/���� ���%�� �������� J�$ 	6� ���� 	�'� . +�2 K�0�

��� �0�/� �6= 5���
�= �8��� ��$��� 4�A�� ���7��� �0�/� ,����� ��/0��� G:� �����
 ��0/ �A �/= ���7���
�� @
6��� 	� 2.  

���� �� �A� �b� K1
 K2 �
��� ���2 1 �� �K1 = K2 = 1. 

 ����� ��
� K��� �6= ���0� ������ >:
�/�� �:� 	� ������
dB 20− �
.� 	�/���� F*6� (Ls) . G:� �= -����� +C
�0� ��� ���� ���0�� �
.� 	�/���� F*�� ��
�� ������%� +�� 1�%� ��@6��� @������� �������.  

 �(  ���!��� "��� �#�� ��	
� :(0° ≤ ∆ψ < Cψb) 

	6� ��� �0�/��� G:� 	� 4�A�� ���� �= ����:  

(10) G (∆ψ)   =  Ge  –  K1B  























ψ
ψ∆+ 1–1

2

b

  dBi 

O�
:  
 G (∆ψ):   	������ ��%��� 	� 4�A��(dBi) 

 Ge:    ���7��� ���
 �/= 4�A��(dBi) 

 ∆ψ:    ��
�)��)�������� ( ���7��� ,�*A ��)4Y�
��� ( G���� 	�#�&� �6= ��
�=,�*A��   
 ψb  = ��)
�� ��2 ,�/����/���) �������� ( �
���
32 λ/D) ���0�Ls = −20 dB  �������� 	� ((6) 

 B =  B0  –  (S  –  1.25) ∆B  for               S  ≥  1,25  
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 B0  =  B                  for              S  <  1,25 

 B0  =  2,05  +  0,5 (F/D  –  1)  +  0,0025 D/λ  
∆B  =  1,65 (D/λ)–0,55  

 �
���� ���%�� �������� �/� ���
 ��
�) ������ �
���
 #�*�������6� ������ ���
6�.  
  ����� �
���:  B0  =  2,15  + T 

   �
��� ��
�)#�*����:  B0  =  1,95 +  T 

      O�
 :T  = 0,5 (F/D  −  1)  +  0,0025 D/λ 

  ����� �
���:  ∆B  =  1,3  (D/λ)−0,55 

  �
�����
�) #�*���� :  ∆B  =  2,0  (D/λ)−0,55 

  D:    	��
86� ������ ��0��)����.��(  
  λ:    ��
��� �
�)����.��(  

S:    ��
�)�� �
�)E�A�  ���

� ��0/
 	��
8�� �����  ��2�
 ��)
6� "��0�� ,�/ �
�� 	� ���7��� ���
 �6=
����/����A$�� 	� �8I� ��A � 4	/�� �:�
 � :S1  =  A1 / 2ψb 
 S2  =  A2 / 2ψb.

  

( )
1

BK

3K20
1C

1

2 −−+=
 

 P�� �
A� �:�� �
�� ���0� �:�
G (∆ψ) ��
�6� 5���0�  −20 k2 (dB)� 4�A ��� ���/��� M��A��� "
�:�Gep�� �:  
G (∆ψ)  =  Ge  +  3 – 20 K2.  

�(  �$����� ��$
�%�� "����� ��	
�) ���!��� "�&� '���%��� ��	
���(: Cψb ≤ ∆ψ < (C + 0,5) ψb 

�6��������� 4���[� 5��� �0�& 5���= �0�/��� G:�  . �� ��*����� ��
.� ���/���� F
�*��������� dB 20−	� �� �8I� �  
��0� ���
��� B&������ "�
�� F2�/�� ���/�� F
�� �8����
  . F*�� >)��� ���)
6� B��
� �8�� O�
� 	��� @��/��� 	�


 �:�� 	������ F*��� �
.� 	�/����>:
�/��� P���
2 ��� B��)
�� ���
� @6��� ����  . +)6� +C ��
;�0�� 5��� �0�& �0�/��� G:� 
 ��
� ���0� 	� 	��7/ � 	A#��$E�) .4�A�� ���� ����� +� ��A 5��62 �0�/��� G:� B��
� +�  ,/��� �����
8� @6��� ����B .(

	6� ��� �8/= ����
 ����C �0�/��� G:� 	� 4�A�� ����
: 
  G (∆ψ)  =  Ge  +  3  −  20 K2 (11) 

�(  ��� ��	
���	����� ��$
�%�� "�:(C + 0,5) ψb ≤ ∆ψ < (C + 4,5) ψb   

� )�������/���� F
�*6� 4����� F2�/���� �0�/��� G: . 	��

� ���= "�
�� ,�7�� F2�/��
dB 10 -�= �6= R6��  
4 ψb .	6� ��� �0�/��� G:� �= ���� +C ��
:  

(12) G (∆ψ)  =  Ge  +  3  −  20 K2  +  2,5  ( ) 








ψ
ψ∆−+
b

5,0C            dBi 

 ���0�� �� "������ G:� F2�/��
Ge + 3 − 20 K2 �/= (C + 0,5) ψb ���0�� ��� Ge + 3 − 10 − 20 K2�/=   
(C + 4,5) ψb.  

 �(   ��$
�%�� "����� ��	
�'��$*����+�� :  (C + 4,5) ψb ≤ ∆ψ < (C + 4,5) ψb D�  
O�
 :D  =  10

[(Ge  −  27)/20]
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 �8�6= ����� 	��� �0�/��� ���0� �0�/��� G:� ���KA���� ���
 �6= >���/��/��
  	��

� F2�dB 6��/��C �A�  . G:� ,�
�

	6� ��� �0�/���:  

  dBi    ( )









ψ∆
ψ+ b5,4C

 G (∆ψ)  =  Ge  +  3  −  10  −  20 K2  +20 log (13) 

 F2�/��
G (∆ψ) ���0�� �� �0�/��� G:� 	� Ge  + 3 − 10 − 20 K2  �/=(C + 4,5) ψb���0�� ���   
Ge + 3 − 16 − 20 K2   �/= (C  +  4,5) ψb 

2 .
 �
6��� �
�� ���0� �8�� �
A� 	��� ��0/��G (∆ψ) = 3 dBi. 

 �A$��4  
 ��	
� 		������	
�  

0672-04

A 
2

A 
1

A  
1

A 
2

������� ��	
 

����� ��
�
       �������  

������� �
��� ��	� ������� ��
�  ( � 

������� �
��� ���� ������� ��
�  (� 

A1� A2:         ������� 	
���
� 	��� ��� �
�����
  (�����
��) ����
� �������
   	��� ��     �
���  �  !"��#


  ������� ����� ��
�  
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 ,(  '���$�� ��$
�%�� "����� ��	
�:  (C  +  4,5) ψb D  ≤  ∆ψ  ≤  90�  
O�
 :D  =  10[(Ge – 27)/20] 

  dBi G (∆ψ)  =  3        (14) 

	�'�
 �A$�� 	� @��/��� G:� ,�
 5.  

 �A$��5  
 ��� -������ ����
�� �# ��&����� �	�
���2  

 

0672-05  

G 
e

   

+  3  =   L
s

– 10 dB/4 

ψ
b

0 dBi  

G
1

G
3

G
2

∆ψ
1

G
 (∆

ψ
)

6 dB/octave 

L
s

: first side-lobe level 

∆ψ
4

∆ψ
2

∆ψ
3

 

���
0��� KA�
��� ��: �����
8��
 ���6�6�E� +)
��
 ������� �������� +)
�� ���
 ��$�� >:
�/�� @���� ���� �� 5�&�� �A��
 .
 ���
�� G:� ��7�
��2 ,��A��� B  "���
��G�=� ,
�
��� +���� >:
�/�� 	�:  

S   	���B ���0�� 3,25 ���� F%����6�6�E� +)
��
 ������� �������� +)
�� .  
S   ���� ���F%� ����
0��� KA�
��� �����	6� ��A ������� ���6���� :  

75.2

75.275.0

75.05.0

for

for

for

62.0

34.0–56.1

3.1

>
≤<
≤≤









=
S

S

S

SB  

O�
:  
  S:   ���/)���7��� )A�� �= ��
�)�� �
�)E� (��� 2ψb 

Ls:���� ����	
� ��
� 
���
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 ψb = 40 λ/D 

 K2 = 1,25 

����� �����
� ���A$� �'$� "������� ���
6���� ���0� ���
0��� KA�
��� ��: �����
86� �
��0��� +�0�� �� �I
���� ����
 .
 ���
�
/A��� G:� �� ��A "������:�
 �
���� �������2!� +�0�� G:� ����=� 	7�/� H� �
���� �� ��)��� ��.� 46��� �2 @0
�6� ���

 �A���� ���
��� ��	� �8?
6����/���� F
�*�� .  

 .������ �&��/ 0������K1� K2 

 ���
��� 	6��= �� -�7�� K��K1
 K2 ������ �����C ������� ��:� ����� �� �>:
�/�� 	� �����)�� ��6�= �� �= ������� 
 ;���]� ��
�����& ���6�=
8�� #��$� ��%�� 	����E� �A$�� 	� P/
�&� 	� ���7� �
� 	��.  

 ���2 "���) ��K1 �= �
��� 	��� ����
�� ���0�� 1 "���) ��� ��!�� � 	��������� ��)
�� 	� F2�/��� "�
.  

 ��6���� ������� �A��
K2 	� ��& ���6��� H�:
 ����/���� F
�*�� �0�� �0�/� ���
� "���)� ���2 K2 ����
�� �8���2 �= 
 �
��� 	���1.  

5.2  �1�		�� �# "��
��� "!��2��34 ������ �+��� $�  

 F2�/� F���% ��� �������� ��)
������
8�� 	�	��
8�� �2 �6= �
.� +�0��� 	� ����� ���
0��� +)
�� ��:  . ������� �����

 ��
�)��∆ψL ���0�� 4�A�� �8�� -*%/� 	��� ��0/�� ��� ���7��� �0�/� ���
 �� dB 22) A�� ��� ���/������
�� �/= 4� (

������� �2����� 	��
8�� �0� ����� 	�
 ������ �'$� ���%��� -��?. ����/ ��6��:  
∆ψL  =  C (λ/D) 

 ���0� ����� ��0� ���
0��� 
� ���
0��� ��? ��)A���� +)
��� @6��� ���� ���C �
��� 64 F
�*6� "
�:�� ��
� ��� �� 
 ���/�����7����� dB 25− .���2 �� �� C ��� 5"��= B0� 64
 80 B��
� 1��� 5���� H�:
 �D���� �86�$� 	��� +)
�� ���
 	� 

�������� +)
��.  

6.2  �	��� 5�� ��
� ��%���� 		����  

 ����0*�� ��1.2
 2.2 ��  "�0*��"�����" ���%�� 	� ���
��� �����
8� ������� ����%� �6= ���
�/� FSS �
� F%�
 �
�7��� @��/� ����%��� ���&*%��� �� �2� D���� ���/ �8�� �
A� 	��� 3,5 ���7��� @��/� F%�� �%b� ��%��� ��� �

 �� ��A� D���� ���/ �8�� �
A� 	��� ����
��5,0 .
 #��$E� ����%�� ,���� ��� +�4�/ ��� ������
 D��   
)5,0 < δ < 3,5 (���
��� �����
8�.  

�/� ����
��� �� �6��A�� "��*���� ��7�
 ��� �
A� 	��� ����
�� D���� 4�/ ��: �����
8�� #��$� ����%� ,���� 	73,5 

5,0 . @������ 1�
� �C���
� ,���� "��=]�
�1�%.� �0�/��� 	�7� O�
� ���:
�/��  . ���
� �2!� �
A J��0� �H�: B�


 �6C��� ���6�� @��� �= P*���� +�� 	���� ��%� ����
� �%b�� ����
� ���:
�/�� ����0*�� 	� �6������� ���6��6�1.2 

2.2 ��  "�0*��"	�
�".  

 ,/��� �����
� �6= �� ��%��� �:� @��/� �
 ��0����� G:� ��� 5���/��� ���� 	���� ��%� ���=� +� �2
A 	*� P/� ��A 
 ���7��� @��/� �'$� 5����
 �8� �
����� �����
8�� ����%� �
�$��&*%��� ����
�� ���7���
  �
A� ���/=3,5 = δ 
� 5,0 

 =δ	��
��� �6=  . ��)
�� B��
� ���= ����� ��%��� �:� ,���� +��
Qi 
�
 F2�/� @��/�� ��6��� �
�
�� ���/ 
 ���
0��� ��)
6� �������� ��)
��)δ < 1/2(  ��� ��)
���0�&��) δ = 1/2  ( ���2 �
A�
Qi D���� 4�/ ��� �� 

����
����2�
��  1���� 	� 3,5 < δ < 5,0	6� ��A :  
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






 −δ







 −+=
5,1

5,3

7808,1
Q

C
QQi 

O�
:  

 





















+








 −δ

=

22

2

]02,0)[(

2

1
000075,0

10

pDF

Q 

1
22

1 −+=
B

C 

B  =  2,05  +  0,5 (F/D  –  1)  +  0,0025 D/λ  –  (δ  –  1,25) 1,65 (D/λ)–0,55 

 ����
�� D���� 4�/� @6��� ���� 	6� ��A 	������ ��%��� ,���� �
A�
)5,0 < δ < 3,5:(  

00

0

0

2

0

dBi

18
9244.1

9244.18904.0

8904.00

for

for

for

9244.1
log2025–

25–

5.0065.13–256.0

)(

ψ
≤

ψ
ψ∆<

≤
ψ

ψ∆<

≤
ψ

ψ∆≤
























ψ∆
+









+

ψ
ψ∆+

=ψ∆

i

ii

i

i
ep

ep

i
ep

Q

QQ

Q

Q
G

G

Q
G

G  

 ����0*�� 	� G�=� "���
�� �������� 	� ����7���� ,���� ;�� �2
1.2
 2.2 ��  "�0*��"�����".  
 �A$�� ����
6 ������ 	������ ��%�6� 5��C� ���2 ��� �� 4,25 = δ  ���/6� ���*6�%� �����2
D/λ.  

  
 

0672-06

– 5 

– 10 

– 15 

– 20 

– 25 

– 30 

0

0 1 2 3 4 5 6 7 8 9 

D/ λ = 30

D / λ  = 80)     
��

��
�� 

�
�� 

	

�
��



 
�

�
��
�

d
B

 (

�������� �	
� �
 ����� �������∆ψ(   �
����
�)  
D/λ�������� �	
��  : 

1,25  =  δ 

1 = F/D
0,35 = F/Dp

�����6

       ������� ��	�� 
��� �
��	�� ���
	�� ���	��
(3,5 < δ < 5,0) 
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�� ��)��� ;���� +)6�
 ������� ��
�� ���2E����
�� D���� 4�/ �0�/�� @6��� ���� >:
�/�� �:� .  
  
  
  
  
  

������ �2  

1  ������� ���	
 ��
 ����� ����� ������� ���	
 ���� �����  

1.1  ���	��� �
��� �
�� �����  

����� �� �8��!� �A�� 	��� �����7��� ��0/�� �� �6�6� ����
� ���7��� �0�/� ,���� �A��� . ,����� ��)��� ��0/�� ��= ���
 
8� 5�
��� 5�*���� ���7��� �0�/�,2
���0�/��� G:� ��0�� 1�� �6=  . 	� P� J
����� �
�*��� "�=���� ��0/�� G:� �
�)� �A��


���%�� K
2 F%� ������=� �= ����/�� ����7���
 	��
8�� ����� . B6&� ��A$� +��
��
�"�
������ ��0/��  . +C�� ,�*A +�
 "�=���� B6&��� �:� �

 ���7��� �0�/����������������� :  

S   
� �
��� �� ���7��� �0�/� ,�*A 	/
/� ��2 ,�/� 	7�/�@
*� ψb3  
S   ��� ��*6� 	7�/�B�0�� �� ���7��� �0�/� ,�*A �� ���0����� @
*� 2ψb)  �A$�� �I/�(7. 

��2 ,�/ "���� �%�� ���7��� B6&� +�� �A�� �:�
�� ψb�
A� ����7��� �0�/� ,�*A 	� "������ G:� . "������ )A�� �
A�
 
���7��� �0�/� ,�*A� 5����� ��
� ��7�� ����2 ,�/ "���� )A�� 
�. +� �:� ���  "���� �%�� ���7��� B6&� +�� �A��

����2 ,�/ ψb� B�e���	����� ;���E� :  

 ������1:   ����2 ,�/ "���� +���ψb �� ��
�) �A� �= �0� 	��� ��6%���� ���7��� B6&� ���
) °180 �
A� �� �6= �
 "������ )A���6=
 	6%���� ��
�)�� ,L�/� �6= 5��2�
 ����� (ψb) �8��� �� . �= �0� ���
)�� B��� �/�A �:�


°180) �
����0�  ( ���
�%�� �76U�2
 4.  

 ������2:   �(   ����2 ,�/ "���� +���ψb �� ��
�) �A���
)��  �6= ��)� 	��� ��6%���� �°180 "������ �
A� �� �6= �
 ����� ��� �6��
�� ����0���6�
 ���7��� ��0/ �� �6= ��)A�� �
A�	���%�� ��
�)�� ,�/�.  

  4(   +� :�B0� ����2 ,�/ "���� +��� ����7��� B6&� >��% �86��A� "������ G:� ψb B6&�� ����� �
A� �
�/= ���7��� �� ����0/ 4�2�B0�
 �P����7��� B6&� >��% �86��A� .  

 ������3:  +������0��� B�2 ���
��� ;�)�. ����� ���
�%�� 	� ��
�
��� 1
 2� �
A� �� 4�2� �
A� 	���
 ��� B6&� 
 �8/A�
 ���7���B0�B6&��� �:� >��% .  

 ������4:   ��� ��6%���� ������� �/�A �:�B�0�� �� �����0��� �����2�� +� 	���  "
�%�� 	� �8�6= �
�
3� �� �2� 2ψb �
 ��& 	7�/����
��� ��0/ �= X�/� O�
� ���7��� B6&� �6= ��������  "��=� �� ��
�%�� @����1 ��� 3 ����� 
 ��� ��6%������6%���� �����0�� �
��� ��8��� ��$��� 2ψb.  

 �A$�� 	� �8I�
7"�
A:��� +���� ��/0�� ��C� .  
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2.1  ���	��� �
��� �
�� ��� ����� �
��  

 ���7��� �0�/� ,�*A 	� �8I� ���/= ���
�� )���"��0� ;�)�� @
6��� 	� �A: ��A �1 . �6����� �:�
∆ψ ���0� 5���
�= 
 ����7��� �0�/� ,�*A �6=�����0� X�/� �2
 �"��=.� ��� �����0� X�/����7��� �0�/� ,�*A B� .  


�6= 467�6�
 �6A$��� G:�  �6= ��A�$��� �� ����?;���� J��0����
�% �� �/
A� ��6�=  .��
� �A� +� �:�
 	� ����0� 
 "
�%�� �76� ����7��� �*A�2������� .  

 ������1:   �A� ,�*A +���∆ψ �� �2� ���7��� �0�/� ,�*A
 ,�*A�� �:� ��� �Y�
�)�� ������� 5���� �
A� � O�
� ∆ψ.  
@�0
� �A��
 �8�
� K�
2� +��� H�: ∆ψ 5�2��/� ��0/ ��  ��2�
���7��� �0�/� ,�*A �6= . G:8� 	���%�� ,�7�� �
A�


X��/�� 4�A�� ,�*A 
� K�
2.�.  
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 �5���
� 
� 5���0��� ���7��� �0�/� ,�*A �
A� ��C�

;���]� ��$�� �:� ��
��� 5���
�= K��0��  �6=���7��� �0�/� ,�*A . ��

:� 	� O�
� ���
�� G"��=.� ��� �����0�.  

 "
�%�� 	� �

�$��� ��6���� ������� ��1����0� �8�� ��
� 	��� @��/��� 	� +���� �A�$� �6= 467���� D���  . ��/�

�0��1�%� @��/� 	� �A�$��� -�� H�/� ��6���� �I/�� �8�
 �� � . @
6��� 	� ��$� ��A�1�D��� �2  	� +A
��� 

 ���/���� F
�*�� ��
�� �CA� ����0��� @��/� 	�����)� B� �#����� ��� ��%�6� 	&���� B�0��� ����
 ���0��� ���� 
 "
�%�� @���� ��!� �� �A��
1���  ��=��0/�4�A�� ,�*A ��� 	� . 

;�/
/� ���2� ,��/� 4�A�� �*A. �
A� �� -��*� �� 5�
0�� 
���
 �= 5���� �0� � (ψb + ∆ψ) ;�
� �8��� �I/  �%�� ��
 +� 4�A�� ,�*A ��P���% . ��$�� �:� @0
��
� "
�%�� 	� "���
�� ��6����1 
� 5���0��� ���7��� �0�/� ,�*A �
A� O�
 

 @��/��� 	� @0
�� � ��/�
 �5���
��� "��0������7��� �0�/� ,�*A  . B0�
�6��0��� �!��� ,�*A �%�� ��;�/
/�� ���2� ,��/. 
*A �
A� ���/= 4�A��5���
� 
� 5���0��� ���7��� �0�/� ,� . "
�%�� ������� ��!� �0� ���0��� @��/� 	� ���1 ,��/� ��� 

���2�;�/
/�  �= �0� (ψb + ∆ψ) ���/= �8��� �I/�4�A�� ,�*A >��% �� .  
 �A$�� 	� �8I�8 "
�%�� 	� "���
�� ��6��6� ��C� 1����0� �8� ��
� �0�/� 	�  . ������
B�2���� ,�/  �0�/� ,�*A� ��

+���� ��8�� -�7� ���7��� . �/� I
��̂
	� #��0/�������  .  
 #���� J��0�
 "
�%��2 [� ;�)�������� #��0/� �� F6%�6�
 G�=� ������� �A�$��� "�=���� H�:
 �"��0�.  
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 ������2:  � ,�*A �8�� ��
�� @��/�� ��.� @6��� ���/= "
�%�� ����
� 4�A�1�/= ;�/
/�� ��2 ,�/ �
A� O�

 ��� 
P��� �I/� �� �2� ,�*A�� �:� >��% �� (ψb + ∆ψ) ,�*A� 4�A�� ,�*A �� ;)��� �:� �= �&������ ����� �

��2 ,�/ R6��P��/
/�  (ψb + ∆ψ). 

 �A$�� 	� �8I�9 "
�%�� 	� "���
�� ��6��6� ��C� 2�I�� ��0��� �6= �0�����
  �A$�� 	� ��8 . ��A���� 4
�A�� �*A� +�2 
 ����/��� D�&
�6� �� -�����ψb ��A 	� ����2 ��
 �A$�� 	� �8IB   �
���dB 3.  


 ������� �0����� G:���&�� � +���� 	�-
�? �� � @��/��� �*A'� @6��� ���� ����= "�
�� �8�2
� �A�� X���/ ��� ��!�
 
 	���������0� �8 .��=� �� ��?	��� ��������� ��0����� G:� :�*/�� D��� 4�� ���  � �0����� G:� �� ��A �4��/� 5����� 

"��7��� ���7��� @��/� . ����� �6��
� �� �� �
���� 	��0����� G:� ���
� .  

 ������
�0����� �
� �/��� ��0/ �/= 4�A�� +�2 �6= �
�
�� ��� �� ������� +���*A.� .  

�6= �
�
�� �A�� �= "���� ��0/ �/= 4�A�� +�2 ��
� �'� ���0� �0�/� ��
�)�� ∆ψ �0�/� ,�*A �6= 5���
�= K�0� 	��� 
����/��� �������� �������� 4�A�� 4�
�̂ +C ���7��� :(10) 
� (11) 
� (12) 
� (13) 
� (14) . 	� ��
� ��0/ �/= 4�A�� ���

	6� ��A G���
� �A��� ��0� �0�/�.  

 +�� 5�
�������� ����%� ;� . +�0��� �% +���)������0��� � O�
� K�� ���7��� ���
 	�����0/ � �� �
� 
�8��0� . +��� +C���
�= ��0/ �/= ���7��� ,�*A �6= K����� .��2
 �:]� ��0/�� "�������  ���7��� �0�/� >��%

 ������
���� �	/��� �� ���
� ��0/�� G:� �/= 	��
8�� )���� ��C'� ���� ���7��� �0�/� 	� ��0� .:��/= �����
	6� �� #���� :  

 ��
�) �7�� ���
� +��∆ψ ��0/�� ��� "����������7��� �0�/� ,�*A
  . ����2 ,�/ "���� +��� +C(ψb + ∆ψ) �� �6=  B0�
�6=�8��� ��$��� ��0/�� �8��
� � ��� ���7��� �0�/� ,�*A �6= ��0/ �� �� ��
�)�� �8����� ��� O�
� 21
�0�� �8��� 

 1
�0�� ��
�)�� ������� G:� �=��
 3���7��� �0�/� >��% �86��A� "������ �
A� ���/=∆ψ′ .:%'� �� �8/A��
 
���2 ��"�
�
�  ��� 0
 ∆ψ � �� �7�� �0�� �� �6=∆ψ�8� ��
��� 
�  .�
�
�� �A��
:��/=  )���� �6= 

 ��0/�� �/= 	��
8��"������� �������� ����
� )10( 
� )11 ( 
�)12 (
� (13)
� ) 14 ( ���
�� 4�
 
�
������� �= �&������� ∆ψ �������� ∆ψ′.  

 +� �2
+�A
� ����
��
 �����/�� ���=E 5����
 �����/���� ��:� �����
 �G�=� "���
�� �0����� ��� 5���/��� ���7��� �0�/� �*A� 
��
������ ������� 4�A� 1��.  
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